General Knowledge

|AHE AT
1. Who used the term ‘Industrial Revolution’ 1. TreNfie wifa wee w1 TAT GAUUH fpa
for the first time ? Rt 7
(A) Arnold Toynbee (A) 3THTTS Zig=e
(B) Voltaire (B) ATced
(C) Max Muller (C) HeE Hel
(D) Auguste Comte (D) 3TTE HI

2. Match the List — I with List — Il and choose 2. §=t — | it et — I @ gafera Ffg 3

the correct answer using the code given gt & i {23 T Re 1 yEnT e W
below the lists. gﬁq |
List -1 List -1l gt - | Tt — I
a. Manipur 1. Kohima a. AU 1. shifeHT
b. Nagaland 2. Imphal b. ATTATE 2. SFHETA
c. Sikkim 3. Agartala c. Tafern 3. PRI
d. Tripura 4. Gangtok d. Bgu 4. M2,
Code : ki
& B = A B ¢ ¢
A1 2 3 4 M1 e 8 4
B2 1 4 3 B2 1 4 3
Y2 4 38 1 C)2 4 3 1
(D) 4 N (D)4 3 2 1

i ’
3. ‘Abolition of dyarchy’ was recommended 3. ¥ ITEA hl FHIf Eﬁﬁﬂﬂﬁ:&'{%{:{a&

by the Simon Commission in which year ? r3a HHITH R ! 775 off ?

(A) 1926 (B) 1927 (A) 1926 (B) 1927

(C) 1935 (D) 1930 (C) 1935 (D) 1930
3o
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4. Which of the following scheme worksona 4. frfeIad 3 8 F - A T S
"Hub and Spoke Model' ? Hieer Y ] 27
(A) Foodgrains SAMPADA Yojana (A) T T A
(B) Mega Food Park Scheme ;
(C) National Mission on Animal
Husbandry
(D) Operation Greens

5. Which of the following is an external )
command of MS-DOS ? e TFHSAA FHTS K

2o (A) Copy
(A) Copy #%&E

1
[
- - I

(B) Type (B) Type
dit
(C) Edit (C) Edi
(D) Path
(D) Path

i a1 g IPv4 Tdl® ¢
6. Which of the following is a valid IPv4 6. fafafgad ¥

address ? (A) 192.168.1.300

(A) 192.168.1.300 (B) 256.256.256.256
56
(B) 256.256.256.2

(C) 172.16.254.1
(D) 192.168.256.1

(C) 172.16.254.1
(D) 192.168.256.1

- el e TSaeiEoi
(A) The Culcutta General Advertiser (A) &

LS
(B) The Culcutta Gazzett (B) & ehetehdl

(C) The Calcutta Chronicle (C) & hetehall Zhifehe]

(D) Bengal Journal (D) TTe] STl
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8. Which of the following option is not a 8.
function of an operating system ? feree 1 T 8l © ¢
(A) Execution of arithmetic operations (A) e EILGIE afraraT i IEERICE!
(B) Command interpretation (B) Gt (AU A
(C) Process management (C) oAy FAsHE
(D) it e

(D) Memory management

9.  Which of the following pair is not correctly

matched ?
(A) Rights of Ministers and Attorney- STfrRT — 314 88

General as respects Houses — Art. 88 (@) T TR - 343%—“’ 165
(B) Advocate General for the State—Art. 165 - e, w 323(A)
(C) Administrative Tribunals — Art. 323(A) o it =
(D) National Commission for Scheduled (D) ﬁagfﬁ

Tribes — Art. 340
10. TFEEIHT GAd a1 otk faestad TadaTe

10. Drainage Pattern developed around the
dome mountain is known as

(A) Centripetal Drainage Pattern

(B) Annular Drainage Pattern
(C) Dendritic Drainage Pattern

(D) Rectangular Drainage Pattern

Which one of the following pair is correctly 11 frefafiad § 9 -9 T I Fal

matched ? gﬂﬁlﬁ 37
(A) Planning Commission of A g

11.

' g ]
India — 1990 %’;ﬁ% iapone o
(B) ‘NITF Aayog — 2015 [E47[E . ST
(C) The Bombay Plan — 1987 (C) AT - 1987
— 1945 (D) “T’fﬂ“ﬂﬁéﬁzﬁ__w%

(D) Reserve Bank of India

e
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12.  Article 233 of the Indian Constitution is .
related to the appointment of which of the frgeh ﬁ—gﬁ?ﬁ Jyafa e

following ?
(A) Chief Justice of the High Court

(B) Chief Justice of the Supreme Court

(C) afaftea =
(C) Additional Judge
fre =i
(D) District Judge (D)
" _ 11 ghfera s, e foa
13.  Match the List — | with List — Il and choose 13. Ti:f:ﬁ |ﬁ1ﬁﬁ |
the correct answer using the code given e) fa%g'efm o gel 3 ﬂﬁa
below. A} W" I
List -1 List =1l
A} T TR 1. 39, 1980
a. Nationalization 1. April, 1980 a. 143! %1
of 14 banks b. 63 1 UHIHEE 2. SA, 1949
b. Nationalization 2. January, 1949 e
f 6 banks c. T2 &h ITH S%EII 3. @Eﬂé, 1969
0
c. Establishment of 3. July, 1969 =T TTIAT
,St:-te — d. ford & 3% 4. SIS, 1955
ndia
d. Nationalization 4. July, 1955 HER I RSARERU
of Reserve Bank
of India %e:
Code: B ] a b c d >
a b c d IEI% I A) 3 : : .
(A) 3 1 4 2
B1 4 2 3
1 4 2 3
4 2 3 1 C) 4 2 3 1
(D) 2 3 1 4 (D) 2 3 1 4
i
A 6-
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14. In which session of the Indian National |
Congress the demand for Poorna Swara|

was made ?

(A) Karachi Session
(B) Lahore Session

(C) Calcutta Session

(D) Banaras Session

15. In which of the following port (that is used

for connecting 1/0 devices), data travels at

400 to 800 megabits per second 7

(A) PS/2 port (B) USB port

(C) VGA port (D) Firewire port

16. Penganga and Wainganga are the
tributaries of

(A) Godavari
(B) Krishna
(C) Kaver
(D) Mahanadi

17. ‘The Start-up India scheme of Government

of India was launched in

(A) February, 2017 ki
(B) January, 2016 ﬁ%
(C) March, 2018

(D) April, 2016

1.

16.

1 4

(A) ®E, 2017
(B) S, 2016
(C) T, 2018

(D) 31, 2016
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18. Which of the following city is the fourth  18. f=ifafaa & @ F-a1 et g -Reg
Indian city to receive the ‘World Craft City aitwe | fava-fires wev &1 &1y F=A
Tag' from the World Crafts Council ? STl =N 9 et R 7
(A) Almora (Uttarakhand) (A) TeHIST (ITTETS)
(B) Lucknow (Uttar Pradesh) (B) T1@IS (IW 9%'-?1)
(C) Chennai (Tamil Nadu) (C) =g (AMeTTg)
(D) Srinagar (Jammu and Kashmir) (D) U (Glﬂ-’g\aﬂ“{ FIR)
B 19. Consider the following statements : 19. fr=fafad sl w faem it :
\\
/ 1. India and Sri Lanka are separated by 1. TR STTSHENeT 9T 3 e &
FV Palk strait. ' AT AT 2 |
2. Of all neighbouring countries, India- 2. Teft TSIEt U & WY, S PG LI
Bangladesh border is the longest. £ di g At R |
Which of the above statement(s) is/are 3¢§Hﬁ o § A T/ adt2/E
correct ?
(A) I 1
(A) Only 1 B '
o %[ (B) Had 2
(B) Only 2
(C) Both 1 and 2 (C) 13 23
(D) Both statements are incorrect (D) 3 oA TE TR & __,/_
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20. Inimage steganography the term LSB
stands for

(A) Least Significant Bit

(B) Last Significant Bit

(C) Large Significant Bit

(D) Low Signal Bit

21. The Constitution (73" Amendment) Act,
1992 provides for which of the following ?

1. Establishment of State Finance
Commission

2. Constitution of District Planning
Committees

3. State Election Commissions to
conduct all Panchayat elections

Select the correct answer using the codes
given below :

(A) 1only
(B) 1 and 2 only
(C) 1 and 3 only

(D) 2 and 3 only

36/25
20. THSI WAFITE | LSB Tl QU €9 41
T @ 7
(A) o fafufthere foe

(B) @i fafiftrere fore
(C) =Sl fafufthene fore

(D) =i fomet fere

21, WiFa™ (73 a1 Gned) Afea4, 1992
=1 4 o e wraaE A ¢

1. T=T 99 113 =1 18

2. TS s wiufa i wemgEr

3. TSI gATE RN YU 9=rard 9419 o

120 1T et 1 T hEd gU Hel ST =
o :

(A) e 1
(B) a1 3T 2
(C) aet 1 31 3

(D) et 2 31 3

A

| —-—
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Srera shifeTe qT e Y
22. Match the lists given below and choose 22. ﬁﬂﬂg?@iﬁm e 1
the correct answer by using code. e o TR g gel Ial Pl IS
List -1 List = II gt - | eeibl!
Fefg Q. SisdaHl
a. Lower palaeolithic  i. Didwana a, TA=1 guATaT
it T
site i
e Rectict i Ao
' ithic  ii. Langhnaj
b. Middle palaeolithic g —
site " ﬁg{mmﬂﬂ?ﬂq jii. THHIL
c. Upper palaeolithic iii. Isampur oI |
o 4. HETTO] ST iv. FEI
* we
d. Mesolithic site iv. Sanghao
R
Code : x b & d
- (A)iiiiiiiv
(A) i i i v -
|) i 1 v N
e ® " e E' ‘E
(B) i i v i &53% o
" = (C) i i v 1
(C) i i v i
(0) i v i i @) @i T
23 “ision 2035 : Public Health Surveillance 23. iaa-:l. 2035 : Ufectsh Tod Hida™ 3 il
in India’ is related with FTEEY T
(A) Agriculture Commission (A) ?ﬁ T
(B) Population Commission (B) SHEEAT A
(C) ‘NITI' Aayog () Hifa’ mam
(D) Census Commission (D) SO ST .
P
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24. Consider the following statements and

select the correct answer from the codes
given below.

Statement -1 : Jannik Sinner won both the

Australian Open 2024 and US Open 2024,
Men’s Single title in Tennis.

Statement ~ Il : Aryna Sabalenka won
both the French Open 2024 and US Open
2024 Women'’s Single title in Tennis.

Code:

(A) Only Statement | is correct
(B) Only Statement Il is correct
(C) Both Statements | and |l are correct

(D) Both Statements | and Il are incorrect

25. ‘Sparrow point’ is famous for which

industry ?

(A) Steel making and ship building
industry

(B) Copper industry

(C) Cement industry

(D) Tobacco industry

26. In which text it is mentioned that “Ashok

was appointed as ruler of Avanti by his
father at the age of 18" ?

(A) Chullabagg
(B) Mahabagg
(C) Deepvansh
(D) Mahavansh

24.

29,

26.

36/25

f=feafaa worl w imm = o Him &
T R H | e I T = R |

U — | : SR R A 2FE d i
AU 2024 3 U@ I 2024, THI &9
el fgara g |

HUA — | : AT FaATereht A fHE 1 He
AT 2024 IR UH 394 2024, IH
Higer Uehel Raare $fiq |

%< .

(A) hadl FY | T8 B

(B) haet A || T 2

(C) SHi A 1 9 || Tt &

(D) 241 e | 9 11 7T &

T Ui fra sum & ol famma g 7
(A) 3EqTd Teior ua Sera fAmior 3gm
(B) el 3T

(C) Hiwe 3am

(D) WA, JE

F8 77 ° Ioor@ & T “a19is 1 3o

foan g0 18 99 6t 31y | af=y w1 s
gaa v mn” ¢

(A) Jeddam
(B) HETem
(C) e

(D) WErEw

s .
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28.
\
v )
e
:f»’ 29.
30.

E
In context to MS Word 2007, which of the

following is true when pressing Ctrl and
Enter Key together ?

(A) Change orientation
(B) Page break

(C) Print page

(D) Justify page

Government of India announced the
“Swiss Challenge Model” for

(A) Redevelopment of Hill stations
(B) Redevelopment of Railway stations
(C) Development of Tourist places

(D) Redevelopment of Kashmir

Which Article of the Indian Constitution
empowers the Parliament to impose
reasonable restrictions on the armed
forces, paramilitary forces and
intelligence agencies ?
(A) Article 31
(B) Article 32
(C) Article 33

(D) Article 34

=

Which of the following planet has maximum
number of satellites ?

36/25

27. MS Word 2007 & desf §, F=fafaa § & I

28.

29.

$IH-TT AT & 54 Ctrl 3R Enter Key =
T A1 o1 & 7

(A) = afifETeem

(B) UST ik

(€) = ¥

(D) ST Ut

R G 4 g <o "isa’’ &y
oy
(A) TRTE! WyHl % G % fe
(B) {e1a RYH! & qAfdenE & fag
(C) wea Tual & faesm & g
(D) eI o qAfde™ & o

VI FITLH 1 -1 =3E 94

! ATHR a1 2 f% gvre s, orefdfys
SoTl Ud Gl UsifEan & qet 31 w
gfeFrgera wicreer <7 Heh ?

(A) Saturn (&) P
(B) Uranus (B) S&m
(C) Jupiter (C) SeTuld
(D) Neptune (D) &
A — X e
-12.
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Reasoning

31. Consider the following three statementsto 31, YuIieh ‘a’ &1 THATH T FTd FH & 1T
find a unique value of an integer ‘a’.

frafafgs &= o w faer Fifs |
i. a° < 61 5
. a~ < 61
i. a<5
iii. a°> 31 i, R0
| | iii. a%> 31
Determine which of the following
statements is true. T e P A P-m A E R |
(A) Any two of three statements are b ;
(B) All three statements are sufficient. (B) TfiHI oA 9T & |
C) All stat : : . o
(C) sta ements each together are not ©) oo S e T s T T E |
sufficient.
(D) None of the above (D) 3udd | | wlg 2
32. If a mirror is placed on line MN in the  32. @fe ¥ Tehid H {@T MN W Uo7 T@T 74T &l
queston fgus, then whih of e Ohen g fy o s g 2 8 5w T
image of the question figure 7 1 g=d g gqur Sfa gt ¢

27 & (27
A SR IR S
ST S TS L3

A
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33. Two persons A and B 12 kms apart, start
moving towards each other along the line
joining them. B moves 1 km before turning
to the left and covers 3 km. A also turns
to the left and covers 3 km after moving
X kms facing towards B. If A and B are now
10 km apart then

(A) x=1km
(C) x=3 km

(B) x=2km
(D) x =4 km

34. If Ais taller than B, B is taller than C, D is
taller than E and E is taller than A. Then
which of the following will be the shortest

one ?
(A) A (B) B
(C) C (D) D

35. For the given Venn diagram showing
number of players in Cricket(C), Football (F),
Hockey (H), which is false ?

(A) The number of players in Hockey is
more than that in Football.

(B) The number of players who play
cricket but not football is 8.

(C) The number of players playing
atleast two games is 10.

(D) The number of players playing
atmost two games is 25.

36/25
33. 12fFiiRg A= Ag B 3T Sy
arefl W W g A R e & laaﬁ-
mswwmﬁﬁm1%¢lm%|
A i Eﬁ@?ﬁ@mxﬁ;ﬁmzﬁm
g a1 @ 3 3 ol qu R 2 af a4

B 314 10 foft 1 & 7

(B) x = 2 fprfy
(D) x = 4 Tored)

(A) x = 1 foprf]

(C) x = 3 feptdi

34, IR A BAT=NE, B, CHTRNR, D, £
qEnR i E, AR TR | da P i a

qad BIET 8 ¢
(A) A

(C) C

(B) B
(D) D

35. fegrwar A+ 3ma = fehehe (C) , Feaid (F),

T gt (H) & Raenfeai i v wl awiare,
FA-ATIFA T ¢

€& o8

N

F
(A) BRI & Raenfeai i T Feaia &
" faenfeai @ e R |
(B) Ud Rawrl St fohehe Werd & W
Feald Tel Waid, 8% |
OELEECEECRIEIRCREEIS
faenfegi A a=a1 102 |

(D) SITET & ITeT & Al ) e el
flgenfeai f vem 252 | _
—______,_.--""

f
y
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36. Consider the two statements. 36. ! HYAI ! GIH H wfR |
P: 7 is a prime number, P:7 Uk AT GE&IT ¢ |
Q : 7 is not an even number, Q: 7 U 9H 9&1 T8 © |
Then, which of the following is true ? T Fferied § § wH-w 7 7
(A) Both P and Q are correct and Q is (A) PA QM w&l € 3T Q T T
correct explanation of P TSR R, P 3 forg
(B) Both P and Q are correct and Q is (B) Pa Q3HI ¥l & 3R Q Uk T
not the correct explanation of P i 981 8, P o fou
(C) Only P is correct (C) shdd PHEI &
(D) Only Q is correct (D) +ad Q Ul B
37. In a code language ‘Q’ is coded as ‘5', 37. U& % WNIH ‘Q &l ‘5’ ¥ Fe foran T
‘SALT’ is coded as ‘28', then how will %, ‘SALT' =l ‘28’ | E T EmI WEIT%, a4
‘SWEET’ be coded ? ‘SWEET &3 ET o s ?
(A) 31.5 (A) 31.5
(=]¢e (=]
P (B) 39 Oz
(C) 30.5 (C) 30.5
(D) 34 (D) 34
38. P always speaks the truth and Q always  38. P Tad T Fedl € IR Q Hed ¥3 el 8,
speaks lie, both are locked inside a room. B SR s
If there is no third person in the room then _ " AR &S § | Ife R
which of the statement can be heard by an H =i dtau safes 78 8 v 9% g g1
cavesdropper ? A F T FYT A 2 TFHAT R ?
(A) | always speak the truth (A) H HT T Srera —Q‘?\
(B) | never speak the truth (B) # &t T=1 7 sreran 4
(C) | speak the truth on sunday only (C) # Faet We@Em = HEEEIRR g\
(D) Both (A) and (C) (D) (A) 3R (C) 3
-15- N
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39. ‘A # B’ means ‘A is the brother of B’
‘A @ B' means ‘A is the daughter of B'. ‘A@ B’ bl a7l ¥,
‘A & B’ means ‘A is the husband of B'.

‘A % B' means ‘A is the wife of B'. If S%

F1A4 2, gHEIRTAR | 'A%
'BEﬁqFﬁA%’I?T%S%D#F@G&H @ J

36/25

39 ‘A#B & IAAE, BFAE AT |
BHETNAR |'A&E

B' &1 Y &,

D#F @ G & H @ J, then which of the ﬁﬁﬁﬂﬁﬁaﬂﬂ—mﬂmmqﬁ%?
' ions is not possible ?
following relations Is not p = sl "
(A) F is daughter of G
(B) DAY 2
(B) J is maternal grandfather of D
(€) HA FAY S ?

(C) S is daughter in law of H

(D) Dis soninlaw of G

L] L - I )
e the following words In a logica
40. Arrang I

and meaningful order.

1. 1 Acre 1. 1 ThsS
2. 1 Square Yard IR URIE!
3. 1 Square Inch 3. 13159
4. 1 Hectare 4. 1 BRI
5. 1@t %I

5. 1 Square Feet
(A) 3-5-1-2-4 (A) 3-5-1-2-4
(B) 3-5-2-4-1 __g_,B) 3—5—2—'4—1

(C) 3-5-1-4-2 (C) 3-5-1-4-2

S o (D) 3-5-2-1-4
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State Related Knowledge
g gareft Al

41. |n which language is the book Sabha-Sar 41, wﬁm% [T AT T fha 7T |
written by Sudarshan Shah ? RICIRIC |
(A) Hindi (B) Sanskrit (A) f&= (B) G&hd
(C) Garhwali (D) Brajbhasha (C) Tl (D) SISI9TAT
42, Mainly in which dance form ‘Mashakbeen’ ~ 42. HE&I ¥4 B “merra’ = v foRm e
is used ? Y S—
(A) Laang (B) Chhuda (A) EIT‘T (B) {@]
(C) Chholiya (D) Chaiti (C) Bifera (D) =l
43. Uttarakhand Police Act was enacted inthe ~ 43. 3TIEUS gﬁﬂ sfferfam fora a4 4
year rferfrafia fomam mam an ?
(A) 2010 (B) 2007 (A) 2010 (B) 2007
(C) 2001 (D) 2009 (C) 2001 (D) 2009
44. Who is the founder of the brand [ % B 44, ‘THRATCH S o HEATR HHE 7
‘Namakwali’ ? = 3’% (A) Tt T
(A) Shashi Bihuguna (B) -
(B) Archana Tomar
(C) Minakshi Khati (C) Hieft @l
(D) Tanya Kotnala (D) =T ShiATEAl
45, Which of the following pairs is not correctly ~ 45. T=iferfiaad # =hiv-a1 gm gafera 72 2 7
matched ? (A) - i B st -
A) Kusahi—Tax on Brahmans _
s . (B) ISl — 4 &
(B) Pungari — Land revenue
(C) Salami — Gifts (C) TaATH! — TSI
(D) Timari — Tax on weavers (D) fermmlt — et & foram Sy v -
2L ¥ -

/
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46. Consider the following statements.
i. Uttarakhand has 5 seats in Lok
Sabha.

ii. Uttarakhand has 2 seats in Fiajya

Sabha.

iii. Uttarakhand has 70 seats for elected
members in Vidhan Sabha.

iv. Uttarakhand has 13 seats reserved
tor Scheduled Castes in its Vidhan

Sabha.
\Which of the above statements are correct 7

(A) Onlyiandii
(B) i, ii and il ;B
(C) i, iii and iv —-t’_‘: %‘%‘
(D) i, ii, iii and v

Pandit Nain Singh Surveyor

47. Where is
itute located

Mountaineering Training Inst
in Uttarakhand ?

(A) Munsiyari (Pithoragarh)

(B) Auli (Chamoli)
(C) Chinyalisaud (Uttarkashi)

(D) Lansdownée (Pauri Garhwal)

48. Mr. Kalyan Singh Rawat was awarded
Padma Shri in 2020 for his contribution
towards environmental cause. He was
the founder of which movement in

Uttarakhand ?

(A) Chipko Movement
(B) Maiti Movement
(C) Forest Movement

(D) Pani Rakho Movement

46.

47.
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49. Govind Pashu Vihar National Park is in

which district ? ferae

(A) Tehri (A) fe=t

(B) Uttarkashi (B) JTTehEH

(C) Chamoli (C) =]
(D) &g

(D) Dehradun

50. ﬁmﬁ%ﬁﬁmmﬁana?rﬁqaﬁtﬂ%

50. Consider the following two statements and

select the correct answer from the code fow 770 e @ TEl I GHT | "
given below. o — | : T % Tgan fhud, Td
Statement — | : According 10 Atkinson T sferat 3 e ¥ HRd AT g U
Kirat, Khas a:-mt;i1 Nag castetshc:me ':jnh . 3 31 3T 3 |

[ same pa whic ;
— eer 1 & o e
| - . @g, A1
Statement — Il : According to certain Had Jga fohUd 3T, fepT ShHaT , 1T,
historical claims, the Kirats came first of gur 3 79 3T |
all, then the Khasas, Nagas, Hunas and e
Yavans in succession.
Code : (A)aaaawm's"r%
(A) Only statement | is correct (B) Neared oA ! T 2
B) Only statement Il is correct ,

L. (C)aaa:llaﬂznaﬁu'eﬁ%

(C) Both statements | and |l are correct

(D)Wlaﬂtlraﬁw%

(D) Both statements | and |l are incorrect

51. %aramqiﬁma?ﬁﬁm%ﬁaﬁm%ﬁm

51. In which of the following literary work of

Vidyasagar Nautiyal, the Valor of Rani ?;ﬁtﬁ oo fopad Tl Fuifadt &t ST T
Karnavati has been depicted ? o7 fn RN $7
(A) Suraj Sabka Hal (A) ;ﬂqqaah—[%
(B) Uttar Bayan Hal (B) I AT
(C) WS GHR

(C) Fatja Panchdhar

(D) Mera Jamak Vapas Do (D) WU STH AT9H &l
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52. Gunth —word is related to

53.

(A) Dance
(C) Dress

(B) Land revenue

(D) Food

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Answer by

using the codes given below.
Assertion (A): Under ‘Pirul Lao-Paise Pao’

scheme in Uttarakhand, the government

will buy Pirul at the rate of Rs. 50/kg.

Reason (R) : Collection of Pirul from the
forest will contribute to reducing forest

fires.

(A) Both (A) and (R) are true and (R) Is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)

(C) (A)is true but (R) is false
(D) (A) is false but (R) is true

Read the following statements.
Statement — 1 : Bhojpatra is found in the
Himalayan regions of Uttarakhand at an

altitude of 9000 to 13000 feet.
Statement — 2 : In Sanskrit texts it has

been called Bhurjpatra.
Which of the above statements is/are

correct 7

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Both 1 and 2 are wrong

53.

ﬁmﬁﬂmﬁa{ﬁﬂwaﬂ%ﬁi |

m(n):mﬁﬁwmmﬁw

ﬁmﬁwmﬁﬁmﬁé’ﬂr

(A) (A)aﬁi(ﬂ)aﬁﬁﬁ%aﬁt (R), (A)
R ACIU RS

@) (A) 3R (R) 31 el & TG (R), (A)F
et T A8l ©

(C) (A) TE & T (R) TTeTd @

(D) (A)TTeTd & 9% (R) ¥l &

54, Trfefiaa wui =t 9g |

FUT — 1 ; IS ITTEvE F femrerdi &En d
9000 ¥ 13000 iz it FTs T I A 2 |

YA - 2 : GEHd T-U1 ° §H YS9 Fal
TR |

SYUF HUHT H | HiT-d1 get 2/2 7

(A) I 1

(B) haet 2 3‘142&
(C) 1 3R 23] ‘Eﬁf’
(D) 1 3R 2 S} 7oy &
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55. Whoamongthefollowingisthe Chairperson

of State Police Board in Uttarakhand 7 1 STEAE T BT & 7
(A) Director General of Police (A) yfera meTfesrh
T
(B) Chief Minister (B) ﬂ'@ﬁ:ﬂ
C -
(C) Home Minister (C) Te
(D) TR A=A
(D) Home Secretary
1 g — 1@ gafera i T
56. Match List— I with List — Il and choose the 56. FEﬂ '%:ﬂ;%@?ﬁgﬁm l
correct answer from the code given below ;ﬂ%@ gﬁq
-1
the lists. q\?ﬁ-l ?f"ﬂ
List - | List - Il 4 ; A
4. Haridutt Kapdi 1. Rowing | b WE[:H e
dur 2. Mountaineering 33‘13{ qémi‘lgui
" PaTlam T c. G fig sl 3 STfeRaT
Ma ]
c. Surendra Singh 3. Boxing g WW 4 TR
Kanwasi |
| thall &he:
d. Suman Kutiyal 4. Baske iy 1F
Code:
a b c d (A1 2 3 4
o740
A1 2 3 4 Ee% B4 3 1 2
I ’
B) 4 3 1 2 ORbL 2 )2 4 3 1
3 1
(32241 D)3 2 4 1
(
3 & a1 20 T gaferd
7 Which of the following Pass S not correctly 57 qﬁ;r;}'@ﬂ
matched ? .
Pass Lies between = s fea e
(A) Kingri-Bingri — Chamoli - Tibet (A) oo fiT — wEie-
(B) Darma — Pithoragarh - Tibet ) ) "
i i - Tibet | FRy- e
(C) Mulingla = Uttarkashi - 11be € - i )
D) Barahoti — Bageshwar - 3 ) 3““”3_“ fsera
- Uttarkashi (D) SIRTETl ?Tﬁ‘ﬂ'{ ITEESH
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58. Who translated Ramayana in Garhwali 58. j‘:mTrﬁT ' T ST 7
called ‘Garh Bhasha Lila Ramayan’ ? UL QISR A
CUCI|
(A) Shri Gunanand Dangwal ‘Pathik’ (A) 2 o
off sty 7Y TN
(B) Shri Abodh Bandhu Bahuguna (B) y |
o gfted g M
(C) Shri Haridutt Bhatt ‘Shailesh’ _(C)
(D) 39 A { IS Tl

(D) None of the above

. @Wmaaﬁgﬁqﬁﬂﬁﬁ%f@a

. s fisedt .
59. Loharinag Pala hydroelectricity projec : ;
is located in which district among the % o frg fore ® fod 2
following ? | " o) f (B) T
(A) Uttarkashi (B) Ru r'apr yag - - _—
(C) Dehradun (D) Tehri Garhwal AR el
| | _gr *fia ITETE H T 3
60. Which of the following songs Is sung 60. 4 hid
in the form of question and answer in =t ¥ = § T S 27
Uttarakhand ?
- (A) Bifern (B) Brafd
(A) Chholiya (B) Chhopatl
(C) Jaggar (D) Basanti (_c) A (D) a1
61. During the reign of Jahangir, Jesuit 61. SR % YEAHIC & QH, YL gfﬂ%?l‘l /
priests/missionaries, travelled to which of Rt X sauEvs 3 frefafaa § @ e
the following place of Uttarakhand ? ot &
(A) Srinagar (B) Bageshwar (A) 2R (B)
(C) Uttarkashi (D) Almora (C) Iy (D) areHre
62. ‘Nyauli’ basically is 62, ‘Al A 5
(A) A Kumauni crop — (A) T ST Fae
(B) A Female animal Ej‘%ﬁ (B) Ush He Y]
(C) A Female bird (C) T A1et vaf
(D) A Kumauni folk art (D) T FHTEAA &

—*-_

(B Scanned with OKEN Scanner

& Scanned with OKEN Scanner



s

63.

63. The confluence of Alaknanda and
Saraswati just below ‘Mana’ village is

called

(A) Keshav Prayag
(B) Dev Prayag

(C) Son Prayag

(D) None of the above

Which of the following statements is/are

correct ?

Statement — | : ‘Nakshatra Sabha’ is a
series of immersive astro-tourism events
d by starscapes in collaboration

64.

organize

with Uttarakhand Tourism Development
Board.

Statement — Il : ‘Nakshatra Sabha’ astro-

tourism campaign began from Mussoorie.

(A) Only Statement |

(B) Only Statement Il
(C) Both Statements | and |l
(D) Neither Statement | nor Statement |l

65. What was the name of capital of Garhwal
during king Manshah ?

(A) Khairagadh

(B) Rajgadh

(C) Pithauragadh

(D) None of the above

66. Which one of the following is not correct 7

(A) Ekeshwar fair — Pauri

(B) Bikhaut fair — Agustyamuni

iR

(C) Chitrashila fair — Gopeshwar

(D) Bikhauti fair — Syalde

64.

36/25

qrorr’ it o Sk A AT 3R
o) o1 G el ©
NEZERRI

(B) <d JAT

(C) @ JAT

(D) I # & % T

ﬁt:rmﬁfiﬁaﬁq-mama‘s’l%/%?
HAT -1 : ‘2er @] IAES THEA

(c) faeirTe
(D) 39erd # H IS el

66. frefefaa # i @8 T8l © 7

(A) THTER Tl — Tt
(B) Torda e — sy
(C) Temfire #ar — MITay
(D) for@itet Tt — wTe
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67. Who among the following wrote the book  67. LR 3y
‘Our Trees Still Grow in Dehra’ ? dgu’ geas foa@l g ?
(A) Jim Corbett (B) Amitav Ghosh (A) form <hreie (B) ay

farsrm D) &h Trug

(C) Vikram Seth (D) Ruskin Bond (C) _ L .( )

68. Historically, the plunder of Kutila/Kupila  68. UG HIEED '{f@ g a’ﬂ T gr’i ?ﬁ T'é
Ghati by Taimur Lang is associated with '@‘f@ﬁ'l/ﬁcﬂﬁ" arél <t ¢]c <l §41,
which of the following place of present day gdur Iqu@Eve & fA=ftEd 4 3 fig
Uttarakhand ? AR ?
(A) Haridwar (B) Almora (A) BFET (B) AcHIST
(C) Bageshwar (D) Uttarkashi (C) FTITa (D) JuTehTEl

69. With what is the village named ‘Falseema’  69. 3(cHISl TR & GAAAl ATHE G F Fay
of Almora city related ? fraa g ?
(A) Painted rock shelters (A) Tafra fRrens

=] ¢ =]

(B) Copper plate %'Egk (B) dE9H
(C) Coins i (C) Taerni
(D) None of the above (D) mﬂﬁﬁﬁﬁﬁflﬁqﬁ

70. Which of the following statement is/are 70. T AT H O FHIH-G1 hUT el 2 /2 7
correct ? : :
. LRI ot HYA — | : 4 3T 2023 F IqOES &

tatement — | : On December 4, 2023, & g arf >
Uttarakhand became the first state in the » + fae TS
country to get Gl certificates for a maximum STHIVT 9= ST % STl <31 31 Tge T
of 18 products in a single day. CERICIN|
Statement — I : ‘Chamoli Wooden FAT -1 : "SI T TR} 7 TGS
Ramman-Mask’ is a Gl tagged product of ITEUS 1 St 3718 27 g1 3
Uttarakhand. A E
(A) Only Statement | 0o |
(B) Only Statement I| (B) *aet &y ||
(C) Both Statements | and I (C) F¥ | 3R |1 2
(D) Neither Statement | nor Statement || (D) =¥ | 3R 7 5o | _
-24-
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1. Whatis the correct sequence of official 71. Iau@ve gicrd | iiHeR! 1 e

e hierarchy in Uttarakhand Police 7 | —— TETEH

(A) Director General — Additional Director
General - Inspector General —

superintendent of Polic.e: el - foa e
B) Director General —Addltm.nal t ) o ]
( Director General — Supermlenden qgliﬁt?w_ qgrﬁ’q’ﬁm
of Police — Inspector General 31%-“:[ e
C Additional Director General - " (C) FT X B
. Director General — Inspector Gene - ”Z‘Lﬁ“l'a;
' t of Police SRIEN gl%rﬂ
_ Superintenden ’ ——
Director General — Inspector General (D) eIy eI )
- _ Additional Director General - 5 sulfion
i~tendent of Police IR EI%]E' |
- 20, 1994 fohd afify 3 Ao i ITAETS i
Which committee in 1994 recowmeqd?g . " s
= Gairsain to be made U’rtarakhandscaplta : Wﬁmﬁm i
sl : A)
(A) Virendra Dikshit Commitiee | o ‘ afifd
(B) Umashankar Kaushik Committee o JHTIR CAINER gfuid
(C) Subhash Kumar Committee - gaT PHN gfHfd

(D) Kelkar Committee

23, Who founded the town of «“Gangolihaat”

42 fpem sEmn ¢
located in Uttarakhand
(A) afeTagied
(A) Lalitsurdev % -
(B) Tribhuvanrajdev s ( ‘)
[=]%# 5
(C) Sujandev (C) GTHea
(D) Indrapaldev (D) g=qTelad
- STTEre 1 gauTd = | 9 169
74. Raksha Sutra Movement was i!'lit:ally : 74. &1 {A <hl
launched in which of the following area : SR gl ?
(A) Yamuna valley (A) TG EIE
(B) Mandakini valley (B) G IR
(C) Bhilangana valley (C) iy arel
(D) Pinder valley (D) Tovex =l
-25- A
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75. Whi .
corr‘;ht(-‘:: the 10Iluwlng statement is/are 75. Tefafaa 9 d H-4l FI4 Tal %/ g 7
ct 7 :
State FAT - | : T, FYHY § WRA ! TEelt
) ment - | : India’s first free helicopter .3 Tl ATt Tafehedm Ty
“Mergency medical service was o1 IguTeA foRdT 4T |
'Naugurated at AlIMS, Rishikesh. o - I - 7 e ‘el AT fe
. hdd -1l
‘Stat?ment = Il : This initiative is part of 2, S Hiftrg 959 I & & o ﬁ:ﬂ‘ﬁ;
Sanjeevani Yojana', offers free helicopter %%ﬂﬁ'ia'{ gfiged 3 g Ui fafEeg
tr'ﬁ""EID::.trtatut::nn and drone based medical e 1 1
deliveries for areas with limited access. T
a (A) Only Statement | () et Fer |
] (B) Only Statement I (B) et e |
(C) Both Statements | and Il (C) %A | 31| T
(D) Neither Statement | nor Statement |l (D) A a1 & | A & HUA |l
76.  Match the following. 76. gHA I |
List—- A List-B
_ -A -B
(Institute) (Location) H\?ﬁ H\?ﬁ
a. Institute of Drilling 1. Ranikhet ( )... _ ( )
Technology - m AT 1. T
b. Drugs Composite 2. Dehradun N feard
Research Unit ok i 8 g
c. Structural Engineering 3. Roorkee I{\ﬁ?—.‘ _
Research Centre - «‘"w@?‘ ZUERITY 3. Egﬁ’ﬂ
d. Nehru Institute of 4, Uttarkashi ﬁ‘éﬁfﬁ?{
Mountaineering d. %353@35@ AT 4. 3TN
Code : ISRERIY
a b c¢ d %<
| a b
Mi R8s (A)1a:d
| B 2 1 3 4 %’im :
E g B) 2 1 3 4
E. c 1 2 4 3 N C 1 2 4 3
E D) 3 4 1 2 @ 3 4 1 2
A -26
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77. Gauntaai, Ghinaud, Sitaul are 77.

(A) Different types of marriage practices
(B) Different types of dishes

(C) Different types of birds

(D) Different types of flowers

36/25

Marg, firre, fda 2
(A) Tafsr R i Janfes
G RERERERE T EE!

(C) farferar wehm = wefi

(D) fafira yehr & qw
forga feedt fgmaa 9 “uren foras” qom

78. \Who campaigned against the ‘Pala Bisau’ 78.
tradition and ensured its abolition in Tehri ¥ faeg rhimm T i 3@ g
Riyasat ? ‘gﬁﬁ%ﬁl £ ?
(A) Satyasharan Ratur (A) T G
(B) Badiri Singh Aswal (B) aﬁ fg'g 31941
(C) Harikrishna Raturi (C) BRF l?gﬂ
(D) Laxman Singh Kathait (D) TAEHT fg dd
sfirfEm, 2007 % AR
i ition of the 79. IT@UES it :
79. What is the correct cnmposutln_n 0
State Police Complaint Authority in T g%—g NEARGBIEERY ! gl Al
Uttarakhand according to Uttarakhand il
Police Act, 2007 ? A) T A OO
(A) A Chairperson and 2 mamzz:z ) TN e e
(B) A Chairperson and 3 mem R i HaH
(C) A Chairperson and 4 members s SES
(D) A Chairperson and 5 members (D) T e
j EUIES { g STaT @ 7
80. Where is the famous fair of ‘Nunai" .. 80. ‘qUE’ <hT Wfkg Ul HEl
celebrated ? gﬁ (A) <
(A) Kumoun EIE 40 (B)
(B) ‘!laaun-s.ar Bawar i cﬁgﬁnll I STl
(C) Paur |
(D) None of the above (D) 3uderd | & s gl
81. Select the odd one out from the g81. URuRes a3 /3 & for werig 9o # it
following local words for traditional tools/ ST a7 Tt 7 A W I
instruments. aﬁE'B Eﬂ':”:'ﬂ[{
(A) Chhabari (B) Kandi (A) m& , (B) HuEt
(C) Pungadi (D) Swalta (C) gl (D) TTe2T
o -27- A

(B Scanned with OKEN Scanner

& Scanned with OKEN Scanner



E& 36/25
fe=at _
82. ﬁ%ﬁﬁﬁmﬁmmﬂawﬂ ge. Freferfian il wt forame shifore 7 = fa
e 7 ) forapedi 3 A wet freea 9 |
(A) T (B) Famil R T ST
(C) wvifamm (D) frEem
. T i, &/t
83. FaI-Ama wam SRy @ oved R @, Afeen h A AL i, el
(A) siftaw w1 = |
(B) 3Mrewfaye sz o i .
(C) TR faieh wwrg it .
(D) 3Tq «ITd F @ T W
84. AR VM Seht i w1 ‘Riesw AR g Ll . .
THR S Fh R ? B) i v i i
(A) it Tt %&E (©) i Wi v i
(B) TcHFHATHSF IT=ITH ﬂ%ﬁ o i ww
) ITHTQT-I'IH e R ) i i v
(D) S S i
89. TR ¥ Y1eq T waigaT=h & 7
85. ™= # 9 H9-41 f[9%hey & HER A (A) fF (B) ST
gEfad T g ?
_r (C) ATehTST (D) 32
(A) ITET] (B) €dIq TiEA :
(C) fewamr (D) HAHIEHE T 90. ¥ ¥ HH-HI Y162 Tieysiverah e & 7
a6, Freiffiad i @ Fi-a1 v S 2 7 A) Fm (B) Frepm
(A) T (B) Ferer (C) TR (D) Ty
(C) Feu (D) wian
91. ° -
g7 fTaeafafiad # 4 Y@ 71 2 T@H‘ s
(A) TeIfiE  (B) SN (A) <= (B) T
() @eu-fafed (D) TeHTalaa (C) v OEGES!
A -28- B
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92. a\aﬁ—lﬂxﬁﬁ—uﬁgﬁ%ﬂaﬁl 95.

] et - |
. hodlTd b B
@. gdrgd 2. ¢
77, SN 3. ¢©
q. 7 4, ® 96.
T @ T ¥
A1 2 3 4 |
g2 1 4 3 % 97,
c4 2 3 1
D3 4 2 1
93. %@Wﬁﬁmﬂﬁ%@w
gﬁﬁ@%ﬁ@a@@,ﬁqﬁﬂ‘ﬁam 98.
2, 1 R © ¢
(A) ¥ (B) HT=
(C) F=H (D) ST

99.

ﬁmﬁmﬁmwwﬁﬁﬁ:
(A) F-1,@-4,7T-2,49-3
(B) F-3, g-4,7-2,9-1
(C) #-3,@-1,71-2,9-4
(D) F-2,d@-1,71-4,49-3

2 IYHH 1 319G ITRY FL T T Ry, e
F-T1 TR BT & 7

(A) T (B) JcvaT

(C) &9 (D) A

fy’ # A e ?
(A) T Ef (B) 4t w4

(C) | (D) T
ﬁmﬁﬁaﬁq—mﬁmﬁﬂﬁﬁﬁqﬁ%?
A st (B) fodreh 118

(A) T Gl oht HIeT o ST |

(B) THT 3274 GheldT Wit g1 =My |

(C) 31 fihst a1 gt TS |

§D) aTTSeRe d& feal foram &1 31vamd &
W@e |

&
s .

——

————— R —
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